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M.B.A, (IDE) ENTRANCE EXAMINATION, February 2012

REGISTER No.: CENTRE:

NAME :

iEiEHA'IlHE:

1. Plaasze write your Register Mumber, Mame, Cenire and Anawer Shest Mo, in tha
spaca provided in the Question Booslst

2. Please do not open the Question Booidat til you are asked 1o do so.

3. This 281 has 150 gquestions. These guestions will have o be answered n
2 haurs.

4, Please maks sure that your Queastion Booklet contains all the 150 quesilons. In
case your Quasticn Bpookiet is defeciive, please gel It exchanged with a
non-defective bookiet from the [nvigiator

5, Foreach question in this 1gs1, thana are several suggestad answens, given against
(&), (B), (C) and (D), (E) out of which, only one response is the MOST
APPROPRIATE. Your task is ta find out the mast appropriate response and
indicate this an the answer shast,

8. Donot mark two answers to any questions. If mone than one answer is given for
any question, it will be counted as wrong.

7. BCORING . Esch rigivt answer cartas @ 1 Mark.

Fizase da your rowgh work I the pages maant for Rough work atached o the
Ceastion Booklel Scrap paper is not permitted,

9, This Question Booklet along with the Answer Sheet should be handad over to tha
Invigilator at the end of the test. Any candidate who does not returm the Question
Booklet and /Answier Shos! will be disqualified.

10, No calculaiors, books, slide-rulers, foot-rulers, nate-books orwritten noes, atc.,
will be aliowed nside the examinasion hall

11. You should follow the instructions given by the Test Administrators and by
Imvigilators al the examination hall, IF you violate the instructions you will be
disqualfied.

12 Candldates found nol eligible at any stage shall be debarred from the tes

13, Any candidate found copying or receiving or giving assistance in the examination
shall be debarred from the fest.
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M.B.A. {IDE) Entrance Examination, February 2012

Time : 2 Hours Max, Marks 150
1. Reasoning
1. Examing the following relationships among mambers of 8 family of six persans
ABCDEandF
1} The mumber of males equals that of females.
21 A and E are sons ol F
3) Dis tha mother of two, one boy and ona girl
4) Bis the sonof &
5} Thare is only one marned couple in the family al prosent,
Whach one of tha following inferences can be drawn from the above 7
&) A, Band G are all females
B A is the husband of [
) E and F are chidren of O
D) O s the granddaugvterof F

2, Ina carain code, MARCH is writlen as OCTEJ, how ks RETURN written in that

code 7
A) TFLIVSM B) QGSTOM
C} TGVWTP D) TGRVSD

3. A, B, C, D, E and F not necessarlly In that crder are sitfing in sax chalrs regutany
placed around a round tablae. It s obsenved that

1) & between Dand F

2} Is opposita D

3 and E are not on nekghbouring chairs
Which one of the fedlowing must be frue 7

Al A s opposie B B} D 5 opposite E

) ©and B ara naighbours ) Band E are neighbours

i £
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4. Aman standing due South o a spire finds the angular elevation of its summit 10 ko
45". I hat thian walks 1o 3 point 15 meters due further South and finds the angle of
alavation o be 307, then the height of the spire, approcmately, is

A 20m B) 25m C) 28m ) aom
5. Assertion (A) | Increasing yields of crops in areas of dry farming s the major
oiective of agricuttural planning in Indta.
Reason (R} These regions suttar from frequent droughts.
&) Both Aand B are true and R explains A
B) Both A and F are trus but H does not explzin &
) A true but R is false
0 A s frue bul & is false
6 A sphare of radius 6 om s cut by two paraliel planes on opposite sides of the

cantre al distances 4 om and 1 cm from the cenfre respectivaly. The convex
surtane of the zone betwaan the Iwo paraliel planes i

A) 62 = B) &0 = C) 55 n D) 50 =

7. F=Food, G =Clothes, R = Rent, E = Entertanment, M = Miscellanesus, from the
given figures state winich of 1he following slatemeant's; isfare trus.

0

Family & Family B
A) Family A spends more on enleainment and rant than family B.
E) Family B spends half of ik income on ciothes and miscsllaneous,
) Foodand cothing consume hall of the income of both families.
Al Aand Bare true B) Band C are true
) Only C is true D) Mons of thesa is frue
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8. In & code languages EAATH is writtsn as CYPRE than what will the code word

LL43

L

12

MACYL referto ?
AY Birth By Orbit C) Ocean D) Cwgar

Questions 8 and 10 are basad on the following :

in a group ol six office gosers K, L M, N, O, P K, M and O possess cars, M, L O
and P possess two wheekars, N and P taks filt in carof K and O, M and L ride on
two wheslers to thair office. Basad on thisinformation state,

. Who poasessies both vehicles
A COinky O B} Cniy K
C} Mand O bath D) Mone of thase
Who do/dos, not possess any vehiche 7
Al Lonly ) M only
C) Nand L both B} Mone of thasa

Questions 11 and 12 are hiﬂdmih&inﬂm 2

In-a group of six playmates Richard is physically strangar than Adam and Adck
but weaker than Charles. Charles I stronger than Edward, Adolf is stranger than
Adam but weakar than Edward, who is weaker than Harry. If Hary is as strong as
Richard then

Who amang these i the weakest 7

A) Adam B) Adoll C} Edward B} Harmry

Whais the strongest 7

A1 Fichand B} Charleg C) Harry O} Adal

A rectanguiar water tank measures 15 m & mattopandis 10m deep. 1 is full of

walnd. If water is drawn out lowering the leve L 1 meter, how much of water has
been drawn out 7

A) 90,000 litres B) 45,000 lires
) 4,500 Wtras 0 900 litres

collegedunias
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14, X =—2; then

XA— %2 — ¥ -1 s equal to
A3 1 B) -3 C) =11 o) -15

15. What is the nurmnber opposite 3 in the following figure 7

A1 H) 4
Cr 5 D) Data insufficient
1
16. IE=I. what is the valee of dx + 2 7
A} 2 B 3 C) 4 0) 14

17. In an open economy, the natianal Income ) of tha ECOMDIMY 18

{C. 1, G, X, M stand for consumption, investmant, Gowi. Expenditure, total exports
and total impons respectively)

AMY=C+|+G+X Bl Y=C+1+G-X=M
C)¥aCsl=sG+{X—M N Y=sCel=G+[X-M)

18. In the given ~00P_ap° and <ORP-20" . s00R |5 equal to

A} 1007 B) 120¢ c) 130 o) 1400
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18. The distribution of 1,00,000 tourists who visited India during a particular year (s
shown in the given charts, based on this, the number of Japanese lourisis below
the age of 30 who vislted India In the yesr concernad is

-l
1w ]
A) 10,000 B) B.0OO ) 6,000 Db 4,000
20, o % of a number iz 3 more than % of the number, then what i e Aumber 7
A} 18 By 24 ) a0 D} 38 E} 48
i
21, #f g of & fiumber is 4 mare than 5 of the number, then what is the number 7
A) A g 28 Gy &5 0 40 El 55
22 Whan tioth 16 and 9 are divided by n, the reminder (s 2. Whatisn 7
A3 B 4 G r D&

=3, After flling the car's fuel tank, a driver drove from P 1o Q and then to R, She used

2
5 of the fusl driving from P 1o Q. |f she used anothar 7 gallans o devve fraen S o

A and s had % of & tank left, how many gallons doas the tank hald ?

Ay 12 B 18 Gy 20 D) 21 E) 35

gcollegedunias
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24. A schoal meeting was attended only by sophomores, juniors, and seniors, % ol

those wha attendad ware juniors, and % ware saniors. If 36 sophomores attended,
what was the 1otal number of students who attendad the maeting ?
A) 108 B) 144 C) 252 O} 288 E) 200

Directions ;

The lollowing ltems consists of two statements, one labeled 2« "Assertion A’ and the
othar labelad as 'Reason K. You are to examine these two statemanis canmiuily and
decide if the Assartion ‘A’ and the Reason 'R’ are individualy true and if so, whather
the Reason is a comect explanation of the Asserlon. Salect yoUr answers to these
ltema using the codes given below and mark your answar shast socordirgly.

Codes :
A} Both Aand A are true and A is the correct explanation of A
B) Both Aand R are true but R is a NOT comrecl explanation of A
C) Ais trus but P is false
D} A s faise but A is trus

26. Assertion (A): A man standing ona compistaly fictionless surface can propal
himsgll by whistling,

Reason(R) . If no external force acts on a Ey5tem, A6 mamentum cannot
change,

26, Assartion (A} The Aham and Puram poems of the Padinen Kilukanaidw group
tormed & continuathon of the Sangam compasition,

Reason(R) : They wers included under Post-Sangam works as against the
Sangam works papar

27, Assertion{A) : Inthe Austraiia cattle rednng is done more far meat than for milk,
Reason(R) : Australians are traditionally non vegetasiars.

28. Assertion (A) ! Lord Linfithgo described the August Movemant of 1942 as the
maost serious revelt after the Sepoy mutiny.

Reason (R} - Peasants joined the mavement in iarge number in some places

=

_— e —
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28. Assertion (A) | In human beings, the femates play & magor rade in determining the
sax of the affspring.

Reason(R) ' Women have two "X chromosomes.

30, Assertion (A) | Large cold storage plants use ammonia a8 relrigerant while
domestic refrigerators use chlorafluorocarbuns.

Reason (A) Ammonia can be kguelied at ambiam lampearatures at low
pressures,

2. English

This is made up of sentence correctlon, critical reasoning and reading
comprehension guestions.

Sentence Correction Directions : In sentence corrections, soma par of tha
sarfence or the entire sentence |s underlined. Baneakh each santence Yl
find five ways of phrasing the undedined part The first of these repaals ha
onginal; the other four are diffarent. i you think the origiral is the best of thess
answer choices, choose answer A; otherwiss, choose the best version and select
the comasponding letiar.

Reading Comprehension Directions : Aliar reading the passage, choosa the
best answer to each question, Answer all questions tolowing 4 passage on ihe
basis of what Is stated or implied in that passage.

Critical Reasoning Directlons ; Salect the best of the answer chaices glwen

31. As ils parformance has risen on all stock indexas. the bio-tech staris-up has
branched out into new marksts to look for opportunities ey would pravicusty
have had to ignore.

A) They would previously have had ta ignore

B) They wauld have had to ignore previously

L) That previcusly they would have had o ignora
O} It would praviously have had to ignore

&
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32 Scientist wishing to understand the kinatic movements of ancient dinosaurs are
hdié.lmﬂyi'lgﬂﬂ movements of moderm day birds, which many sclantists believe
are descendod from dinosaurs. A fiaw in this strategy i that bircs, although tice
genetically linked 1o dinosaurs, have evolved so far that any comparison is
effectivaly meaningloss.

Which of tha following, if true, would most wesken the criticism made abovi of the

sCientists strategy ?

A} Birds and dinosaurs have a number of mpartant features in oormmon thal sxist
no othar ving species

B) Birds are separated from dinceaurs Dy B3 milion years of avalution

) Our theorles of dinosaur movements have recantly undergone a radical reapprais

D} The study of kinetic mavement is a relafively new discipline.

33, The tactory in China rmmnwnnuh:mpmraaﬁ:ﬂmy:addlmmmﬁcmm
fnes, and subcontracting out certain small production goals that could be I:I::ln;
more efficiently else where. Adding robatic assambly lines will improve sfficiency
mor@ than subcontracting some small production goals. Therators, by adding
robotic assembly lines, the faciory will be doing the most that can be done to
Which of the fallowing is an assumpticn on which tha argument depends 7
A} Adding robotic assembly lines will ba mong expensive ihan subcontracting som

amall production goals.

B) The factory has a chalce of robotic assembly nes. some of which might be bett:
BUited to thls facicry than others

C} The factory may or may not decide to choose aihar altemative.

D) EMiciency cannot ba improved mare Dy using both methods togather then by addin
robotic assembly lines alons.

1. SpAce Bplorers allempted on
owledge. 50 i0o are tha new priviata consortium space explorers
Seaking to add to man’s general understanding of the cosmos,

) JmasﬂwaaﬂyNASAmaﬁmﬂﬂmeﬂmwﬂnum o push the frondlen
ol our knowledge, 0 too o

B} The early NASA space explorsrs attemptad on each fight to push tha frontiers o
our knowledge, and in the same way

) Like the case of the early NASA space explorers who attempted on each llight io
push the frontiers our knowledge, so toa

D) Asin the sarly NASA space explorers attempts on each flight to puesh the frontlers
of our knowledge, so oo

collegedunias



B Studiss have shown that
girders armive on site

C) Catastroghic fires rapresent only 43 of the fires reporied nationaly

D) The proposad salety code will add considerably to the cost of NEw construction

36, An attempt

has been unsuccesshyl despite efiors by Many Importand groups, Including the
National Organization for WO,

A) T ratify the Equal Rights Amendmant,
B} Begun almast twa Oecades ago, forra

masl disicdgemeant of insulation DoCurs after the

Degun almost two decadas ago
Efying the Equal Fights Amendmant

Rave always been parishs and by othars.
A) ostracized B} accepted
C) sheferag D} admanishad

gcollegedunias
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38 Although the novel was genéraily boring and awkwardly written, there were
- paamgaﬁmmmandhmsmMNmmmm#a
A) oocasional, potentia|
B} frequent, malevolence
C) stalic, styla
(6] if-concetvad, supearficiality
38. Parfralts paintad in Colonial America arg Quité chamming but and

demonstrate the isolation of the Amerioar paimter; they show litthe or no
————0f the davalopment of painting in Europa.

B) frivalous, atfirmation
C} deliberate. domingtian
D) Primitlve, knowledpe
| rati i
"SRR 110 ameger o D corpteation g A areacly tnas a3 1
A) arbitrate, thwarted
B} capitulate, exacarbated
G} censure, rectifisd
B} mandate, violatod

41. The design of the buildhng was magniticent, B it8 classical lines seemed almast
LR WumnrplaEaMIubuskmmthfchws_ e
wtramodam steel glass and glass SKySCrapers.

A} garizh, beleagured by
B} anachronistic, replate with
C) untoward, bareft of
L grofesque, enhanced by
42, Animal behaviarists thearize that dogs are morg —_ than cals because

inay ame pack animals; WMME.WMMMJMEWWMHM
. @nd therefore jags kaly 1o try te please their owners

A) Precocious, compiex B) Aggressive, obsequious
C} Tractable, cbdyrate O} Inteffigent, resifient

-E2
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43, The parks departmentclaimsthereisa _  of wild¥e inthe New York city
araa, and that species which have not Bved in fhie area for most of the cantury ara
once again baing sighiad.

A Rasurgence B} Paimity

) Supersiructurs O Pretotypes
Diractions : Each of tha fofiowing fems consists of a related pair of words or phrases
presanted o capital atters, followad by five lathared pairs of words or phrases presentad
in lower case latters. For aach question, choose the lettered pair that expresses a
ralationship that is most neary ke thet expressed in the capitalized pair,
44, AUTHLESS : COMPASSION

A} verbose | conversation

B malune @ oftspring

) animatad | intaras]

0 letharghs : energy

45 LEOPARD: CAT
A) zebra : Zoo
B) hawk : pray
Cy parmoi; jungle
O chamealeon | zard
df, AMGER :RABID
A hunger ; ravenois
Bl concam : carelass
Gl modamity | contemparary
[} petelance mounful
47, BLAMEWORTHY : REPROACH ;.
A) racalcitrant | praise
B} humaorous : approval
] sympathetic : rmpctan
D) meritorious : rewanrd

13k
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45, F'EEJEE‘I"HMN.EIHIHJN-&LIT'E:
Al monoionous - compulsion
B sthargy) - My Scism
C) mealusive mésanthropy
D) inclulgen - forbearance

48, PRESTIDIGITATION - DECEFTION -
Al al:mlunun:anurny
B) legerdemain lesion
L) salamnity : iungral
O} inexcrability . chronalogy

BO. SGLIEJTﬂl_JS:a'I'I"EI".III{}N L
A I‘Eltl:iﬂ'bus.cnﬂ‘mfrdnce

B) tepid : maturity

C) corrosive ; chemica|

D) Ingenuous : naivets
INTERESTED - papT :

A) 8menable : enthuaigati
B) comupt fulfilied

Ch iqimﬁned.:nncamad

0] tru&rrE{snme:mmrrq:Efate

52 HAPAEBUE'GFIEEJ‘J::
Y Eealous : passian
B) ferociousg + Hirmicliy
C) conlemptuous - reticence
(51} Precocious : adminisiration

51,

1

ey
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&Y

ETOCKING : LEG
A Waistband - skin
B) Ankle: foot

G} Butbon : apel

3% Glowe ! hand

FARY | RECREATHIMN =
Al Kichen: cooking

B} Fence | sithing

C} Tree ; climbing

L} Yard: playing
OUMNCE : WEIGHT

A Acre | ansa

B Scale . mass

o) nch : yard

) Menu : portion

CREST - WAVE ;;
A} Climax : action
B} Elegy ; memary
C} Example ; paradigms

0y Miaslone : distance

LOW : COW

Al Gosling ; goose
g} Swarm - bees
CH Hutch : rabhit
D) Chirp © bird

7586
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o8, HAMLET : VILLAGE -
A} Street - sidewalk
B) Convertible : car
C) Building : skyscrapar
G} Coftage | house

58, MALLEABLE : SHAPED
A} Flexitde : bullind
B) Amenabls : parsuaded
) Tolerahie : handlad
) Piiable : hardenad

B0, ANALGESIC - PAIN -
A} Anesthetic ; surgeny
B} Palliative * victence
C) Operation : haalth
D} Enthusiasm : anger

1. NOVICE : EXPERIENCE -
Al Guestioner : knowledge
B) Imvader : bravery
C) Narrator ; objectivity
D} Rube : sophistication

B2. GRISLY : DISGUST -
A} Happy | grief
B) Endearing : aloction
G} Redalent : joy
DV Boring : mMemst

gcollegedunias



(SR e 7596

B3 DIATHIBER : ABLUSIVE :
A} Rant - condamnatany
B} Dociring © orihbox
Ch Euloty : laudatory
O} Refrain : musical

/ 64, SECRETE : FIND -
A Buttle @ hear
Bl Cower : apen
C} Exuda; ignosa
D) Smile : gadden

65 INDELIBLE : PERMAMEMNCE -
A) United - individuality
B} Quaktied : ampioyment
C) Urensdicable - toleration
D} Flimsy : lenuousness
Directions : Choosa the answer cholco thal best completes the senience

BE. "Plck ong topic and it throwghout vour ferm pape:”,
A) Silck around

B) Stepan ong's ioaes in

) Stck o
Dy Pazta it

&7, “U'min a resl mish now, but Istar and Ul have moss time 1o @k”
A} slop by B) dropout

) trn over By turn olf

collegedunlas
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B8, Jane was Wil waork and couldn't be hara,
Al uptodate B) fiedup
) filled up D) touched up
£8. Smitty felt that people who were rude were a real
A twm off B) tumdown
C i ower ) slopup
70. Palty always sets her alarm so thatshecan at8.00 a.m,
Al think anver B) write down
C) think thraugh O] waksa up

Directions - Each sanlance in this Parl has one oF two missing blanks, as indicated by
a sefies ol dashes. Following the semtence, you Wil see five lettered words or set of
words. Chocsa the word or set of words that best fits the meaning of the sentence as a
whaole

71. Plants that grow in the desert or on high roCky ledges can survive long periods ol
_ because they hoard water in their leavies, stems and rool systems,
A) Darkness
Bl Inactivity
C) Dormancy
0) Drought
72. Thanks to his eloguence and fogic, Liamspoke  and made it difficun
tor even his bilerest opponents 1o his opinigna,
A) Monotanausly, clash with
B) Charmingly, yiskd to
G} Tediously, contand with
D) Persuasively, disagres with

collegedunias
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73, Many myths and legends, howaler ofien possess a grain of fruth
A Dedghtiu Bl Accurghe

1 E -
i ElBmal

D} Unbefevania

Anchent Greek PalynIgs :‘ﬂrﬁﬁ mchdad the dervice of arvns Intaranatan in (heir
WOrk | st 85 crcumstences becames ding. 3 wiosild descand from
Ulympus and rescus the harsdrom almost certain deaih

A) Hem

B] Warriar

C} Luminary

O Doy

5, Tha apparen wilh ‘which professional skiars descend the glopes is

deceplive; this activily requires effort and intense concentration
A) Trepidabon, Consciows

Bl Focus, Resoiuts

L) Monchalance, Strenuous

L} Consideration, Unpradiciabla

FB. Meranda, In hor desine to foser o often felt compelled 1o
i athers in tense gtuations

readlly
A} Cooperation, object

B) Consistency, dafer

) Lhsfension, surmandear

D} Harmony, acquiesce

Early psychoanalysts challanged many of the most nofions of humsan
Dehavior and compalied many bo afler their daarly held assumptions about human
makire

A Elusive B Derlded

L} Volatile Ui Cherishiad

gcollegedunias
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T

&1,

g2

Although detractors labeled Margarat Thatcherspolicles | shw assened
that heridéas moved the United Kingdam forwand

Al Pramaturs B) Autacratic
C) Regressive D) Democratic
Some subatomic particles, anly thiough their effects on ather bodies,

have bean compared to outer planets whose was firgl deduced from
eccentricities in other planet's orbits,

A) Faasible, irregularity
B} Palpable, crection

C) Imaginable, lalsity

0} Percoptibled, exlstence

. Wary of unofhdox treatmenta, many doctors are reluctant to concade that

nutritionists have a argument for the use of distary regulation as
preventive medicing.

Al Cogarit
B) Cursory
C) Vacillating
O} Fackless

3, General Knowiedge

Phytolron Is a facility 1o

A) Grow plants under disease free conditions
B) Conserve endanpered spices of plants
C} Grow plants under controlled condiflons
0 Indusca mutations

The Rapa which is sung early in the maming is

Al Todi B} Drartsar

&) Bhopas [}) Bhimpalasi
20
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83, GiN-pdged market means
A) Bullion markst

7596

B) Market of Government sacuritias

) Market of guns

0 Market of pure metals

B4. Which cne of the following dynasties was rubng cver Morh India at the tme of

Alexander's invesion 7
Ay Mandg B Maurya
C} Sunga D) Karva
85 Which one of the lollowing materiats 15 viry hard and very ductile 7
A) Cororundism B Tungsien
C) Castiron D} Machroms
B6. Malch List F with List Il and selectshe-epmert answar using the codes given balow
the lists
List 1 List i
(Minarals) {Major producer)
a) Mireral Cil 1} -Zamibss
. b} Copper 2] Guyana
&} Manganess 3) Vensruely
) Bauxite 4} Gabon
Codes
A 8 b & d
4 i 4 2
Bl =a b G d
3 1 o 4
C) s b -] d
1 3 2 4
D) a b e d
1 3 4 2

collegedunias
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8Y. Which one of ihe tollowing does 3 TV remate comtrol uni UsSe 10 operate a TV sat
A} Light waves B) Sound waves
Ci Micro waves D) Radio waves

B& Considarthe following statemets -
The Indtan rupes (s fully comvertibia
1) In respect of Current Account af Balance of Paymemt
2] in fespact of Capital Account of Balance Payment

3} indo pald
Whizh af those slatements isfare Cormes] 7
Al 1 along B} 3 alona
C) 1and2 D) 1,2and3
B8, Who among the fallpwing straamiined the Maratha administration aher Sambhiaj 7
A) Raja Ram 8} Balaji Vishwarath
C) Ganga Ba B} Manaji Deshmukiy

2. Hybridoms echnology is a new biotechnological approach for commercig
Production of

Al monocional anfibodias B) interferon
C) antibictics 0} atcohol
H1. Which one of tha tollowing ls known as tha “Coltes port” of the Worlg 7
A} Sao Paulo B} Santos
G} Rioda Janairg D) Buenos Ajreg

82. Resurgent Indig Bonds were lssued in US Dodlar, Poursd, Sterfing and
Al Japaness Yen B} Deutsche Mark
C) Eurn L) French Frane

gcollegedunias



(IEIMEWe 7596

83, The sansation of fatigue in the muscles after profonged strenuous phyvsical wark

is caused by
A} A decrease in tha supply of oxvgen
B} Minorwear and tear of muscle fibers

C) The dephation of glucose
0 The acourmulation of lactic acid

, Consider the foBowing eavents
1} Aeign of Krishna Deva Raya of Vijayanagara
2} Construction of Qutub Minar
3 Arrival of Porfuguese In Indla
4) Dweath of Finee Tughlag
Thee coerect chroncloglcal sequance of these events s
A 24,31 B) 24,13 Gl 4.2 1.3 0y 4 2,31

Fundamental Dutias of Indian Citizens

A) Formed pan of the ariginal Constitution

B) Wero added to the Constitulion by the 42™ Amandment

C) Were addad to the Constitution by the 44™ Amendment

0O) Were added fo the Constiulion in the wake of Supreme Court |udgment In
Keshavananda Bharalicase

. What is elastic rebound theory concemed with 7

A Mounizin Building

B) Process of gradation

) Earthquakes

O} Tidal phanomena

i The Natlional Mesosphore, Stratosphers, Troposphers (MST) Reader Facility Is

Izcated at Gadanki in

A) Kamataka B} Gujarat

) Andhra Pradesh D} Crissa
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B8. The firg! use metal coins In India, the &5 caflad punch marked coins can be
associated with

A) The Harappan penod Bi The Vedic period
C) The post Vedic period 0} TheMauryan period
B8, Mach the following
a} MARARD 1) Flnanclafaﬂalmannﬂfwm!uuslng
b) NCDC 2} Refinancing agricuitural cradt
c) SCARDR 3} Inter-state sals of Bgrcuttural products
di NAFED 4) Land development
by c d
A 1 4 3
Bj 1 2 J 4
C) 4 1 2 K
Dj 3 2 1 4
100. The Kundankulam Nuclear Power Station |s set up In Tamil Madu in coaboration
with
Al France B) Gemany ) Pussia ) Itaty
101. The substance that |s not oolloidal In nature i5
Aj blood B) rmilk
] smoka D) gripe water

102 Aggregate Measure of Support (AMS) in the context 0P WTO redirs to
A} The minimum suppon price guarartesd to {he farmars
B) The guantum of subsidy given to the agricuttural soctor
C} The iasue price of paddy and whea
D) Insurance covar lor Crops

28
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103 Some of the mineral elemants fequired in extremely small quantities (traces) ane
called microglemants. Which of the following are such elemants 7

A) Copper, Zing, Magnesium, lron and Sullur

B) Mangaress, finc, Iron, Bomnand Calcium

Cl dinc, Copper. Manganese, Molybdenum and Bormn
0 Malybdanum, Boron, Zing, Magnesium and Calcium

104. Yakshagana is a folk dance dramaof
Al Maharashira  B) Kamataka ) Gujaral O) W. Bengal

105, Papetiis the lestival of
Al Sikhs B) Jairs G} Buddhists D) Parsis

105, Which of the following is not one of the objectives of Indla’s food palicy 7
A} To avan tamine by maintaining buffer siock
B} Te keap the cast of Iving index of employess fram dsing
€) Toensure remunerative prices 1o farmers

Y} Tomaintain genaral prce level

107, Kyat is currancy of
A} lsrasl B Myanmar C} Malaysia Dy Thailand

108 Whao was the first Chairman of the Planning Commission 7
&) Or, Rajndia Prasad

B} Jawaharial Mehru

C) Gulzari Lsl Nanda

D0} G.B. Pant
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A. Ramanija
E. Madhvg
C. Shankara
AMCEBA B CAB ClACH D) ABC
10 Dist ks tha Parliament of
A lsrasl B Sweden C) Gemany D) Japan
4. Quantitatiyve A bility

11, A certain company has 120 EMployaes, [f 24 dlheﬂmi;l{n}r&naarem the unjion,

2 In1880, 5 certain tree wag 12 metar tal, If the e magsured 15 Metars i 1585
by what parcent gid 15 haight increass 7

Ay 39 B) 255 C) 40% D) 8O

113,

A) 98 % B) a@% C) g% D) 2%
114, in 1840, the pﬁn&nfaﬂurtalrrdmnwasﬁﬂ.i'ﬂ. irrl'am-h‘mnmstmmrn 1887,
what was the parcent increase Iy the price of the ftem 7 |
Al 2% Bl B0 C) 120%, O 300
115, In 8 Ceriain school, 40 p-um&nturﬂmsluﬂumaar&hnn if there are 80 by in the
school, what i the fatal number of studants in the schonl 7
Ay 3s B) 50 C) 120 0} 200

collegedunia:
India’s |arg.sx§m.m Review Platform



(KON 7596

116 Thae price of lem intreased by 25 percent. i the price of the iterm after the Increasa
i § 2.00, what i the onglnal price 7

A} §1.50 B) $1.60 G} 31.75 o) $2.50

117. In a cerain box of candy, the ratio of ight chooolates to dark chocodates is 4:5. If
the box contains 36 candies, how many of the candies are dark chocolates 7

A8 B) 18 C) 20 D) 24

118. Ina certain schood, the ratio of Seniors fo Junlors is 5:4, and the ratko of Senlor 1o
Sophomores s 5.5, What is the ratio ol Sophomores to Juniors 7
Ay 2:3 B) 25:24 cy1 D} 24: 26

118, In a cerain library, the ratio of fictkon 1o nonfiction books is 3:5. | the libeany
cantains & tatal of 8000 books, how many of the books are nonfiction ?
A} 2.400 B) 3,000 C) 3,800 D) 5000

120. In a certain game, 3 nuros are equal 1o 2 ximps, and B clabs are egqueal 107 2imp,
4 clabs are equal to how many nurbs ?
A1 B 2 C)3 04

21, A% 1,000 bonus is o be dividad mm?glhraﬂ pacpls so that Jane moeheas twice

8 much as Robert, who recsives 5 e much as Wendy. How much money
should Wendy recefva 7

Al 5100 B) 125 Gl §260 Oy 8625

&2, Aol of mefal nhbon that weighs 12 pounds (3 cut into bwo pleces. One pece s
75 fest long and waighs 8 pounds. Wihat was the length, infest, of the onginal roll 7
A) 6D B) 20 C) 100 0y 120

123. A car travelling at & constant 50 miles per hour covers the same distance in one
hour a3 a car travelling at a conetant 25 mies per hour for how many howrs ?

1
A)

1
3 B3 c) 1 o) 2
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124, Armecipe calls for three eggs arru'm:utups ol ik, 1f & guantity of the recips s
prepared using sdght eggs, how many cups of milk shauld be used ?

2 1 1
4 = = et
Ay 4 B} 43 €} 55 O} 55

125, 1 8 pounds of coftes cast § 50, how much do 12 pounds of coffes coat 7
Al 52500 B) $6250 &} $75.00 Oy 580,00

125, Thres printing presses can finish acartaln: job in G0 minutos. How many minoes
will it take five such printing presses to do the sama job ?

A} 15 B) 20 ) 30 D) 3%

127. W 4 gallons of water occupy 30 cubis feet of space, haow many gallons are
naeded 1o Ml a tank with a capacsty of 360 cubic fest 7
A} 12 B) 24 ) 30 D) 48

128 A repalr ghop can paint three cars every four hours, Af that rate, how many
hours will | take the shap 1o paint five cars ?

1 2 1 1
B B= = =
A) B3 B) 63 c) 73 D) 73

129, At a certaln tactory, It lakes five metal fastenars 1o attach a muffiar to a car. |f
a box containing 500 fasteners costs § 42, how much will [t cost 1o buy the
exact number of fasteners neadad to attach 300 muifiers 7

Al 514 B 538 C) 555 Oy 51286
130, Which of tha following is equeal to Ju 3+

A) S8 B) &

C) Bx(x sxiex) D 3x (1)
oy T rorayt

24
A) K4y B x—vy C) x2+y D} %+ y°
-20
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132, % + ¥ =9, then Etx I %‘.l"

Al 1 Bl 3 C) 18 D) &
133, M2% 4y = 5andx +¥= 3. thenx=
A O B} 1 Ci 2 D) 4

134, Ham=5and4n—3m=13thenn =

Al D B)1 cy 2 oy o4
136, IF{x = y)® = %% £ 42 then wy =

A) O

Bl 1

C)2

0 Cannod be determined from tha information given

136 W {x 4 yP - (x -y)i2 =20 than xy =

Ao Bj 1 o) 2 o s

137 lr1+1=ﬂ,than::=-
X X
A h) B L

138. It 100 identical bricks weigh p

Pounds; then in terms of P, 20 of these bricks
vmi;;hthmnanypmmﬂa?

B B 5
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138. A group of 15 studenis look a test that was scomd fram O b 100. If exactly tan
studants scorad 75 or more on the tast, whait is the Iewiest possitie value for tha
average of scores of all 15 students 7

A} 25 B) 850 c) 70 D) 75

140. If a machine produces x units in t minutes and 30 seconds, What ic the avarage
operabing speed In units parunit 7

t+30 X i :
A

) B) G brf—~ v
2

t+30 2x

141, If a certain rectangle has a length that is twice iS width, what is the ratio of the
area of the reclangle to an isosceles right trangle with hypotense aqual to tha
widlth of the rectangls ?

| 1 1 &
A) 3 B) = < 3 L)
142, If 5x + 3y = 1% and x and y are positive intagars, then y could equal which of the

Tallowing 7

A) 1 B 2 Cy 3 D) 4

143. H a six-side polygon has two sides of length k — 2y each and lour sides of length
2 + ¥ Bach, what Is its permster 7

A) Bx =By B) Gx—vy C] &x 0y 10

2
144, At the first stop on her route, a driver unicaded s of the packages in her van.

1

After she unloaded another three packages &t her pexd stop, 2 of the original

number of packages in the van remainad. How rhany packages wers in the van
befare tha first delivery 7

Aj 10 B) 18 C) 25 o) 0
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145. |f the cost of b books |s d dollars, what s the cost, In doliars, of » books at the

same rate 7

lx Bidl b=
Al xd B} B ) = 5] d

148, A bag contains 4 red hammers, 10 blue hammers, and 6 yedlow hammers. H thros

hammers are removed at random and no hammer is retumed to tha bag after
removal, what is the probability that all thres hammers will ba biug 7

1 1 3 2
-"-]'i B}E ﬂiﬁ D?E

147, If a rectangular swimming pool hes a volume of 16,800 cubic fesl. a dapit of
10 feat, and a length of 75 feet, what is the width of the pool, in fest 7
A) 2 B 26 C) 22 D) 110

148, Nails are soid In 8-ounce and 20-ounce boxes, It 50 baxes of nails were sold and

the total weight of the nails sold was less than 600 ouncas, what |s tha greates
possible numbaer of 20-ounce boxes that could have bean aald 7

Al M B} 33 C) 25 O} 18

148. if nis an aven integer, which of the following must be an odd integar 7

Ay 3n—-2 B} 3(n+1) Cln=2 ] g

150, 5ix cups of lour are required 1o make & baich of cookies How many cups of flour
dre needed to make encugh cookies 1o fill 12 cookis jars, if each cookie jar hodds
1.5 batches 7

A) 108 B) 80 c) &1 D) 78
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145. |f the cost of b books |s d dollars, what s the cost, In doliars, of » books at the
same rate ?

A xd B/ == g 2 D) =

b x d

148, A bag contains 4 red hammers, 10 blue hammers, and B yellow hammers. Hthras

hammers are remeved at random and no hammer i retumed to the bag atter
removal, what is the probability that all three hammers will ba biue 7

1 1 3 2
Al 3 B 3 C a5 D) 35

147, If a rectangular swimming pool has a volume of 16,5800 cubic fest. a dapii of
10 foat, and a length of 75 faet, what iz the width of the poal, in feal 7
A) 22 B 28 C) 22 o) 110

148, Mails are soid In 8-ounce and 20-0unce boxes, |f 50 boxes of nails were sold and

the total weight of the nails sold was less than 800 ouncas, what |s tha greates
possible number of 20-ounce boxes that coukd have bean sold 7

Al M B} 3 C) &5 0} 18

142, if nis an aven integer, which of the following must be an odd integar 7
Ay 3n—-2 B) 3(n+1) Cln=2 ] g

150. Six oups of lour are required 1o make & baich of cookies. How many cups of flour
dre neaded to make encugh cookies 1o fill 12 cookie jars, if each cookie jar hodds
1.5 batches 7

A) 108 B) 20 C) a1 0) 78
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